
1. b) Aao¿ Jp{kp

2. b) Aem-hp-≤o≥ Jn¬Pn

3. c) Xan-gv\mSv

4. a) tIcfw

5. b) sk‚ v \√okv

6. c) hn.Un B¿ F¬ sSÃv

7. b) amtam-{Km^n

8. a) Un^vØo-cnb

9. d) Im©≥PwK

10.b) sXe-¶m\

11.c) ap≈-bm\ Kncn

12.b) Xm]vXn

13.a) Xm]vXn

14.d) XoØ¬ _o®v

15.c) ]n]m-hmhv

16.b) AemMv

17.c) {ioe¶

18.d) Be-∏pg

19.a) 6 cm2

20.d) 16 sk.ao

21.b) 70, 15, 95

22.c) 24sk.ao

23.b) calf

24.b) Horse

25.a) cub

26.c) wriggler

27.d) BtZiw

28.a) BK-a-k‘n-

29.b) BtZ-i-k‘n

30.c) BK-a-k‘n-

ANSWER KEY

TOPICWISE EXAM - 10

19. a) 6) 6) 6) 6) 6 cm2

   hi-ßƒ (3,4,5) B-b-Xp-sIm≠v
{XntImWw a´-{Xn-tIm-W-amWv

  {XntIm-W-Øns‚ hnkvXo¿Ww = 1/2bh

                               = 1/2 x3x4

                              = 6cm2

20.d) 16 sk.ao) 16 sk.ao) 16 sk.ao) 16 sk.ao) 16 sk.ao

      ew_w2 = I¿Æw2 ˛ ]mZw2

               = 202 ˛ 122

               = 400 ˛ 144 = 256

    ew_w = √256 = 16 cm

21.b) 70, 15, 95) 70, 15, 95) 70, 15, 95) 70, 15, 95) 70, 15, 95

          {XntIm-W-Øns‚

    tImW-f-hp-I-fpsS XpI  = 1800

                    70 +15+95 = 180

22.c) 24 sk.ao) 24 sk.ao) 24 sk.ao) 24 sk.ao) 24 sk.ao

      hi-ß-fpsS
     Awi-_‘w  = 1/5 : 1/3 : 1/4
                    = 1/5 x 60 :1/3 x 60 :1/4 x 60
                    = 12: 20:15
sNdn-b-h-i-Øns‚
              \ofw = 94 x 12/47
                     = 24 cm

     h

4cm

b , 3cm


